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Determine whether the following integrals are convergent or divergent. Evaluate those that

are convergent.
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Determine the exact length of the curve.
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Determine the exact area of the surface by rotating the curve about the x-axis.
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Determine the exact area of the surface by rotating the curve about the y-axis.
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Eliminate the parameter and find the Cartesian coordinate equation of the curve and sketch the
curve.
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9. Use Simpson’s rule to approximate the integral ]02 sin(e™)dx with n=6. Setup, do not

calculate.
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10. Determine the equation of the line tangent to the curve at the indicated point.
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